B APNaLS_4eALA

UEILA40_LZA4E Y

I
5
I
;

alphal3_4eX1X:cyclenum {run == 5916}

[
T

5143 5143.2 5143.4 5143.6 5143.8 5144

cyclenum

delta46_12X4eY:cyclenum {run == 5916}

5143 51432 5143.4 51436 51438 5144

cyclenum

alpha4b_4ey4ay

5918

5917.5

5917

5916.5

5916

5915.5

5915

5914.5

5914

alpha46_4eY4aY:cyclenum {run == 5916}

P PPN R RPN B IR B
5143 5143.2 5143.4 5143.6 5143.8 5144
cyclenum

run:cyclenum {run == 5916}

P PN R RPN BRI IR B
5143 5143.2 51434 5143.6 5143.8 5144
cyclenum

deltal3_lzx4ex

segment

o
o

25

15

05

deltal3_12X4eX:cyclenum {run == 5916}

5143 5143.2 51434 5143.6 5143.8 5144
cyclenum

segment:cyclenum {run == 5916}

5143 5143.2 5143.4 5143.6 5143.8 5144
cyclenum




USI_1A

usi_4ey

=

0.5

usl_1X:cyclenum {run == 5916}

5143 5143.2 5143.4 5143.6 5143.8 5144

cyclenum

usl_4eY:cyclenum {run == 5916}

5143

5143.2 5143.4 5143.6 5143.8 5144
cyclenum

usl_say

usl_12x

usl_4aY:cyclenum {run == 5916}

[

0.5

5143 5143.2 5143.4 5143.6 5143.8 5144
cyclenum

usl_12X:cyclenum {run == 5916}

[

0.5

5143 51432 51434 51436 51438 5144

cyclenum

usl_sex
=

05

5918

5917.5

5917

5916.5

5916

5915.5

5915

5914.5

usl_4eX:cyclenum {run == 5916}

5143 5143.2 51434 5143.6 5143.8 5144
cyclenum

run:cyclenum {run == 5916}

5914

5143 51432 5143.4 51436 51438 5144

cyclenum




USI_L1A

usI_aey

=

0.5

usr_1X:cyclenum {run == 5916}

5143 5143.2 5143.4 5143.6 5143.8 5144

cyclenum

usr_4eY:cyclenum {run == 5916}

5143

5143.2 5143.4 5143.6 5143.8 5144
cyclenum

usr_say

usr_12x

usr_4aY:cyclenum {run == 5916}

[

0.5

5143 5143.2 5143.4 5143.6 5143.8 5144
cyclenum

usr_12X:cyclenum {run == 5916}

[

0.5

5143 51432 51434 51436 51438 5144

cyclenum

usr_aex
=

05

5918

5917.5

5917

5916.5

5916

5915.5

5915

5914.5

usr_4eX:cyclenum {run == 5916}

5143 5143.2 51434 5143.6 5143.8 5144
cyclenum

run:cyclenum {run == 5916}

5914

5143 51432 5143.4 51436 51438 5144

cyclenum




16000

14000 F

12000

10000

8000

6000

4000

2000

usl_colle
o]
o
o

]
o
o

600

500

400

300

200

100

usl_coill:cyclenum {run == 5916}

5143 5143.2 5143.4 5143.6 5143.8 5144
cyclenum

usl_coil6:cyclenum {run == 5916}

5143 5143.2 51434 5143.6 5143.8 5124
cyclenum

[

usl_cols

0.5

;7000
6000
5000
4000
3000
2000

1000

usl_coil3:cyclenum {run == 5916}

5143 51432 51434 5143.6 5143.8 5144

cyclenum

usl_coil7:cyclenum {run == 5916}

5143 51432 51434 51436 51438 5

cyclenum

[

usl_coll4

05

5918

5917.5

5917

5916.5

5916

5915.5

5915

5914.5

5914

usl_coil4:cyclenum {run == 5916}

5143 5143.2 51434 5143.6 5143.8 5144
cyclenum

run:cyclenum {run == 5916}

5143 5143.2 5143.4 5143.6 5143.8 5144
cyclenum




—-2000
-4000
-6000
-8000
10000

12000

;1600
" 1400
1200
1000
800
600
400

200

usr_coill:cyclenum {run == 5916}

5143 5143.2 5143.4 5143.6 5143.8 5144

cyclenum

usr_coil6:cyclenum {run == 5916}

5143 51432 5143.4 51436 51438 5194

cyclenum

usr_colls
=

30000

25000

20000

15000

10000

5000

usr_coil3:cyclenum {run == 5916}

5143 51432 51434 5143.6 5143.8 5144

cyclenum

usr_coil7:cyclenum {run == 5916}

5143 51432 51434 51436 51438 5

cyclenum

usr_coll4
=

05

5918

5917.5

5917

5916.5

5916

5915.5

5915

5914.5

5914

usr_coil4:cyclenum {run == 5916}

5143 5143.2 51434 5143.6 5143.8 5144
cyclenum

run:cyclenum {run == 5916}

5143 5143.2 5143.4 5143.6 5143.8 5144
cyclenum




-100

-150

-200

-250

-300

-100

-150

-200

-250

1X_coill:cyclenum {run == 5916}

1X_coll3
=

0.5

1X_coil3:cyclenum {run == 5916}

R S I
Lo i iy i v i
5143 51432 5143.4 5143.6 51438 5144
cyclenum
4eX_coill:cyclenum {run == 5916}
P [ B AP

5143 51432 5143.4 51436 51438 5144

cyclenum

4ex_colls
=

0.5

5143 51432 51434 5143.6 5143.8 5144

cyclenum

4eX_coil3:cyclenum {run == 5916}

P PN R RPN BRI IR B
5143 5143.2 51434 5143.6 5143.8 5144
cyclenum

1X_coil7

4eX_coil7

300

250

200

150

100

50

1X_coil7:cyclenum {run == 5916}

o S S S N
S AR R
A AR L

5143 51432 51434 51436 51438 &
cyclenum
4eX_coil7:cyclenum {run == 5916}

5143 5143.2 51434 5143.6 51438 5

cyclenum



4dY_consd

4eY_cond

4aY_coild:cyclenum {run == 5916}

[
T

7 SO SRS S SR S A

5143

5143.2 5143.4 5143.6 5143.8 5144
cyclenum

4eY_coil4:cyclenum {run == 5916}

1+

5143 51432 5143.4 51436 51438 5144

cyclenum

4aY_coilé

4eY_coilé

-~
o

(o2}
=]

50

40

30

20

10

4aY_coil6:cyclenum {run == 5916}

5143 5143.2 5143.4 5143.6 51438 5
cyclenum

4eY_coil6:cyclenum {run == 5916}

5143 51432 51434 51436 51438 5

cyclenum

4aY_coil7

-7

o

4eY_coll/
s
o1

-2

-25

4aY_coil7:cyclenum {run == 5916}

x

S DRI St Ut it

5143 5143.2 51434 5143.6 5143.8 5144
cyclenum

4eY_coil7:cyclenum {run == 5916}

P [ I

5143 51432 5143.4 51436 51438 5144

cyclenum




i 0
3
I
!

-50
-100
-150
-200
-250

12X_coil6

4l

12X_coill:cyclenum {run == 5916}

A [ -
e e .-

5143 5143.2 5143.4 5143.6 5143.8 5144

cyclenum

12X_coil6:cyclenum {run == 5916}

5143 5143.2 51434 5143.6 5143.8 5124
cyclenum

Len_vuni

12X_coil3
=

0.5

-100

-200

-300

-400

-500

12X_coil3:cyclenum {run == 5916}

P R SRR RN AR I
5143 5143.2 5143.4 5143.6 5143.8 5144
cyclenum

12X_coil7:cyclenum {run == 5916}

k

5143

5143.2 51434 5143.6 5143.8

5144
cyclenum

12X_coll4
=

05

5918

5917.5

5917

5916.5

5916

5915.5

5915

5914.5

5914

12X_coil4:cyclenum {run == 5916}

5143 5143.2 51434 5143.6 5143.8 5144
cyclenum

run:cyclenum {run == 5916}

5143 5143.2 5143.4 5143.6 5143.8 5144
cyclenum
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